1 2 3 | 4 | 5 6 7 | 8 9 10 11 | 12
Erdungsflachen lackfrei —2X Befest_lgungsschrauben M6 M40XL5
. . 2x festening screws M6 lackfrei / paint free
earthinng areas paint free Anzuasdrehmoment : 6Nm P
9 _ - Anzugsdrehmoment: 20Nm
Locking torque: 6Nm Y, Locking torque: 20Nm A
| i
B
o
o
™
M40x1.5
lackfrei / paint free
Anzugsdrehmoment: 20Nm
Locking torque: 20Nm
4x Befestigungsschrauben M6 ¢
4x festening screws M6
Anzugsdrehmoment : 6Nm
Locking torque: 6Nm
Bei Verwendung von Befestigungsschrauben M20; A2-70
A-A(1:2) by using of festening screws M20; A2-70 -
Anzugsdrehmoment: 150Nm
Schraube M16 Locking torque: 150Nm
Screw M16 Kontaktflache lackfrei
Anzugsdrehmoment: 200Nm contact surface paint free
Locking torque: 200Nm
D
lackfrei
paint free R— )
lackfrei / paint free
< Anzugsdrehmoment: 20Nm
| Locking torque: 20Nm E
2
°
M20x1.5
lackfrei / paint free
4x Befestigungsschraube M8 Kontaktflache lackfrei ﬁnzlggsdrehmqrg%rll}: 20Nm —
4xfestening screw M8 contact surface paint free ocking torque: m
Anzugsdrehmoment: 10Nm 135
Locking torque: 20Nm
215 max. 300mm
F
Erd flachen lackfrei W
: : rdungsflachen lackfrei :
Technische Daten / Technical data i : 2x Befestigungsschrauben M6
earthinng areas paint free ox festening screws M6
Polzahl / number of contacts: 1 Anzugsdrehmoment : 6Nm
Nennspannung / nominal voltage: 3 kV AC/DC Locking torque: 6Nm B
Nennstrom / rated current: 800A . N
Temperaturbereich / Temperature range: -30C bis -85TC
Schutzart / degree of protection: P54 A X | === ____]_ :
Steckkraft / insertion force: 200 N ; EQ\ G
Gleitkraft / sliding force: 100 N —
Ziehkraft / drawing force: >100 N g
Leiteranschlufd / conductor termination: Schraubanschlul3 M16 / screw-type M16 ;—f
Oberflache / Contact finish: Oberflache: grundiert grau RAL 7023 / painting RAL 7023 | [ N 0. | 7—_— 1 -
Gewicht / net weight: 13 kg
Normen / engineere standards: nach UIC 552 / according UIC 552
Kontaktflache lackfrei ) .
contact surface paint free SB002721 ] Anderungen vorbehalten! Subject to change! © (Schaltbau GmbH)
Datum Name . . MaBstab / Scale] H
155 02 11| Fraczek MaRblatt/Dimension Sheet |
Inspegcrfor Siehe PDM
Norm |Siehe PDM ZH550
Mafe ohne Toleranzangabe
| s0zreen | KD-DK-V1-S1-C-M40
® SCHALTBAU 1-1480-301794 P
1 2 3 | 4 5 6 7 8 9 Vers. | Anderung / Changing [Datum / Date |[Name] Ers. f. PSPO01-ENG-00100012 Bl'éslh'




